5. (2%° + Tx+1)+ (x* - 2x + 8)

;%_{’4—_21__-};1}1;*2;{4—8

o,
3x +8x +9



12. (?r/x.@y)
X (;ZJS—}-E\( (.5}/) -—)((Qx) 4 (5}/)

é?xa-t/gm_/ ~ XY -—5),;{
(ng‘H Exy -5>, =




12. @/x.@y)
3 (20 +2x(s3) (2 — y ()

b3 §1Sxky ~ Xy -—5),;{
(gxa‘fi-/ Ex.y -S}, =




'rn to find the product.

16. (4{4&}3)

g
/cﬁx %_ﬁ

/by~

—




19. @5 20. (—

T HEABA3L
7X2+5 65X -}—3(,

_---_-__




. % (1207 =112 + 3)

"/st_-i— } IX L/—- BXQ

—




. (—4x" —5x% + 2x)‘—‘:'i 2x” +9x% + 2




Write the expression in simplest form that represents the area of the figure below.

(2« -";@LE)

ﬁh#béﬂ);r—l -zﬁ{)X

2x+1

x+3
— x+1— —x

<c2x+ D (X 1—D+ (&x“f) (x+3> +@x+” X
U 2t A -3 KAy










Solve the equation hy factoring.

Lo
16. Y (EBy—6= Iy

(y —\\LyrQ =O

Yﬂﬂrgnyﬂ_o
Yol OUyzg ™

—
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